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1) Stan (lamela A) 1, *10

1 |Hodnik 1.45 m?
2 |Dnevna soba 18.65 m?
'3 |Kuhinja 2.58 m2
4 |Kupatilo 3.28 m?
5 |Balkon | 1.69m?
Ukupno 27.64 m2

*27.69 m2
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Pozicija stana:
LIL 1L IViPs

Lamela:
lamela A

9) Stan (lamela A) 9, *17
1 [Hodnik | 1.34me
2 |Dnevna soba 18.67 m?2
3 |Kuhinja 2.34 m2
4 |Kupatilo 3.27 m?
5 |Balkon 1.76 m2
Ukupno 27.38 m?

*27.39 m2
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Lamela:
lamela A

1) Stan (lamela A) 18, 27
1 |Hodnik 1.45 m?
2 |Dnevna soba 18.71 m2
3 |Kuhinja 2.60 m?
4 |Kupatilo 3.28 m?
5 |Balkon | 1.69 m?
Ukupno 27.73 m?2
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- Lamela:
lamela A
= 9) Stan (lamela A) 26, 35
1 |Hodnik 1.34 m?
{ 2 |Dnevna soba 18.67 m?
| s 3 Kuhinja 2.35 m?
z F 4 Kupatilo 3.27 m?
L QA NIY PN NGNS NGNDN > Balkon 1.76 m?

Ukupno 27.39 m2
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- Lamela:
lamela A
1) Stan (lamela A) 36
1 |Hodnik 1.45 m?
2 |Dnevna soba 18.71 m?
'3 |Kuhinja 2.60 m?
i_ !‘_(E_patilo 3.28 m?
5 |Balkon 1.69 m?

;Ukupno

' 27.73 mz2
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2 S B |
2 ' 16 89
b 9) Stan (lamela A) 43
g 1 Hodnik 1.34 m?
2 Dnevna soba 18.67 m?
'3 |Kuhinja 235 m?
< 4 Kupatilo 3.27 m?
2si b 307 A 5 |Balkon 1.76 m2

Ukupno 27.39 m2
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S - 5) Stan (lamela A) 5, *13
‘ ; 1 |Hodnik 3.94 m?
2 |Dnevna soba 14.99 m?
2 '3 |Kuhinja 3.11me
s 4 |Spavaca soba 8.18 m?
5 | Kupatilo | 328me
Ukupno 33.51 m2
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*33.55 m2
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o5 0 5 8) Stan (lamela A) 8, *16
o) el .
(4) S % 1 |Hodnik 3.05 m?
2 9 o | 2 |Dnevna soba 14.99 m?
B 3 '3 |Kuhinja 2.89 m2
o o)
§ K 4 |Spavaca soba 8.64 m2
5 |Kupatilo 3.56 m?
6 |Loda | 2.88m?

o Ul \ ) ‘Ukupno 36.01 m?
I pgl | | _ 15 : *36.18 m2
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- Lamela:
a8 2 o . . 3 lamela A
25 || 461 ; : T TS 33 _ 315 25
1 ]| _ N ! 5) Stan (lamela A) 22, 31
1 |Hodnik 3.94 m?2
| . 2 |Dnevna soba 14.98 m?
2 3) 3 2 (4 2 '3 |Kuhinja 3.11 m2
s B i i S_@qéa soba 8.18 m2
| 5 |Kupatilo | 333me
= .r - Ukupno 33.55 m?
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Pozicija stana:
L, I, L IV i Ps
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T lamela A
g ks
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8) Stan (lamela A) 25, 34
3) g 1 [Hodnik 3.05 m2
| 54 @ 2 |Dnevna soba 15.05 m?
| \ 3 |Kuhinja 2.91 m?
| 8 g 4 |Spavaca soba 8.69 m?
| 5 |Kupatilo 3.62m?
' 6 |Loda | 3.00 m

‘Ukupno 36.33 m?




lamela B lamela A

.::__Jﬂﬂ &H_jﬂ_ " &J‘— »

% l""‘J T ]

JEDNOIPOSOBAN

LT
I
L
T

Pozicija stana:
L, I, 11, IViPs

Lamela:
lamela A

- 5) Stan (lamela A) 39
1 |Hodnik 3.94 m?
2 |Dnevna soba 14.98 m?
'3 |Kuhinja 3.11me
4 |Spavaca soba 8.18 m?
5 | Kupatilo | 3.33me
Ukupno 33.55 m?
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Pozicija stana:
L, I, 11, IViPs

- N - Lamela:
i lamela A
3.
8) Stan (lamela A) 42
E 1 |Hodnik 3.05 m?
. 2 |Dnevna soba 15.05 m?
| '3 | Kuhinja 2.91 m?
“3' N 4 Spavaca soba 8.69 m?
‘- 5  Kupatilo 3.62 m?
6 |Loda | 3.00m2

‘Ukupno 36.33 m2
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Pozicija stana:
LIL L IViPs

lamela B

&5 6) Stan (lamela A) 6, *14
(lamela B) **6, ***15

1 |Hodnik 3.09 m2

2 |Dnevna soba 18.72 m?

'3 |Kuhinja 2.43 m?

i _ S_@qéa soba 8.96 m2

_____ 5 |Kupatilo 3.28 m?

16 Loda 1.83 m?

Ukupno 38.31 m?2

*38.33 m2

**37.79 m2
***37.84 m2
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Pozicija stana:
L, I, L IV i Ps

Lamela:

lamela A |

lamela B

4) Stan (lamela A) 21, 30
(lamela B) *22, *31
1 |Hodnik 3.08 m?
2 |Dnevna soba 18.53 m?
3 |Kuhinja 2.42 m?
4 |Spavaca soba 8.93 m?
5 | Kupatilo 3.42 m?
6 |Loda _ 1.58 m2
Ukupno 37.98 m?

*38.44 m2
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Pozicija stana:
L, I, L IV i Ps

Lamela:

lamela A |

lamela B

6) Stan (lamela A) 23, 32
(lamela B) *24, *33
1 |Hodnik | 309me
2 |Dnevna soba 18.79 m?
'3 |Kuhinja 243 m?
4 |Spavaca soba 8.96 m?|
5 | Kupatilo 3.34 m?
6 |Loda | 183m?
Ukupno 38.44 m?

*37.95 m2
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Pozicija stana:
LIL 1L IViPs

- Lamela:
lamela A 1 lamela B
i 4) Stan (lamela A) 4
; (lamela B) *4, **13
1 |Hodnik 3.08 m?
2 |Dnevna soba 18.46 m?
3 |Kuhinja 2.42 m?
7¢5 4 Spavaca soba 8.93 m?
5 Ku_palilo 3.42 m?
6 |Loda I 1.58 m?
Ukupno 37.91 m2
45 *38.31 m2
**38.33 m2
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Pozicija stana:
L, I, 11, IViPs

Lamela:
S . lamela A | lamela B

25 361 25
<HF ; — 4) Stan (lamela A) 38
(lamela B) *40
1 |Hodnik 3.08 m?
2 |Dnevna soba 18.53 m?
3 3 |Kuhinja 2.42 m?
2 o 361 5
& > i ¥ & 4 |Spavaca soba 8.93 m2
- - |5 Ku_palilo 3.42 m?
2\ 6 |Loda - 158m?
8 & Ukupno 37.98 m?
42 — (i *38.44 m2
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Pozicija stana:
L, I, 11, IViPs

Lamela:
lamela A | lamelaB

6) Stan (lamela A) 40
(lamela B) *42
1 |Hodnik 3.09 m2?
2 |Dnevna soba 18.79 m?
3 |Kuhinja 2.43 m?
4 |Spavaca soba 8.96 m?
5 | Kupatilo 3.34 m2
6 |Loda _ 1.83 m?
Ukupno 38.44 m?

*37.95 m2
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10) Stan (lamela B) 1, *10
1 |Hodnik ' 1.34 m2
2 Dnevnasoba |  20.25m?
3 |Kuhinja 2.34 m?
4 |Kupatilo 3.27 m?
5 '5 | Balkon 201
Ukupno 29.33 m?

*29.35 m2
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Pozicija stana:
LIL 1L IViPs

Lamela:
lamela B

11) Stan (lamela B) 2, *11

1 [Hodnik _ 3.05m?
2 |Dnevna soba 15.79 m2
3 |Kuhinja 2.89 m?
4 |Spavaca soba 9.12 m2
5 "}-(upatilo 3.56 m?
6 Loda I amm
Ukupno 37.30 m?

*37.47 m2
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Pozicija stana:
LIL 1L IViPs

Lamela:
lamela B

13) Stan (lamela B) 5, *14
1 |Hodnik 3.94 m?
2 |Dnevna soba 14.99 m?
'3 |Kuhinja 3.11me
4 |Spavaca soba 8.18 m?
5 | Kupatilo | 328me
Ukupno 33.51 m2

*33.55 m2
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2sjl 33 ¢ Sk 191 BE 347 IREIE" 8
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I 15) Stan (lamela B) 8, *17
_ g A e
§ g8 @ 3 @ pi%il 1 [Hodnik 3.05 m?
L | 2 Dnevna soba 15.79 m?
| ﬁ - 3 |Kuhinja 2.89 m?
: 1' N 4 | Spavaca soba 7.12 m2
il Ml : : |5 Kupatilo 3.45 m2
' 3 ' PI 6 |Loda | 238m2
Fr / A“ \ \ ) Ukupno 34.68 m2
25 . 164 . 1 93 | 15 " . 207 I ‘I 5 *3472 m2
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Pozicija stana:
LIL 1L IViPs

- Lamela:
lamela B
16) Stan (lamela B) 9, *18
1 |Hodnik 1.34 m?
2 |Dnevna soba 20.25 m?
'3 |Kuhinja 2.34 m?
i_ !‘_(E_patilo 3.27 m?
:5 Balkon | 2.11 m2
Ukupno 29.33 m?

*29.35 m2
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Pozicija stana:
L, I, L IV i Ps

Lamela:
lamela B

11) Stan (lamela B) 20, 29
1 [Hodnik 3.05 m?,
2 Dnevna soba 15.86 m?
'3 Kuhinja 291 m?
4 Spavaca soba 9.18 m?|
5 Kupatilo 3.62 m?
6 Loda 3.01 m?*

Ukupno

37.63 m?
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Pozicija stana:
L, I, L IV i Ps

Lamela:
lamela B

13) Stan (lamela B) 23, 32
1 |Hodnik 3.94 m?
2 |Dnevna soba 14.98 m?
'3 |Kuhinja 3.11me
4 |Spavaca soba 8.18 m?
5 | Kupatilo 3.33 m?

‘Ukupno 133.55 m?
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' Lamela:
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15) Stan (lamela B) 26, 35
1 |Hodnik 3.05 m2
2 |Dnevna soba 15.86 m?
3 |Kuhinja 2.91 m?
i_ S_@qéa soba 7.17 m2
5 |Kupatilo 3.51 m2
6 Loda | 2.38 m2
Ukupno 34.88 m2
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2
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!91‘24..
16) Stan (lamela B) 27, 36
3 1 |Hodnik 1.34 m?
. 2 |Dnevna soba 20.27 m?
9 4 '3 |Kuhinja 2.35 m?
A 4 Kupatilo 3.27 m?
5 5 _ Balkon | 2.11 m2
Ukupno 29.35 m2?
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10) Stan (lamela B) 37
J 1 |Hodnik 1.34 m?|
2 Dnevna soba 20.26 m?
8 3 |Kuhinja 2.35 m?
| _ 4 Kupatilo 3.27m?|
g 7 - 25 5 Balkon 211 m?

() ) Ukupno ~ 29.35 m?
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@ — By ' 11) Stan (lamela B) 38
L 4 o | |
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2 @ J | 1 |Hodnik 3.05 m?
' S8 & 2 |Dnevna soba 15.86 m?
% § '3 |Kuhinja 291 m?
_ 4 |Spavaca soba 9.18 m?|
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Pozicija stana:
L, I, 11, IViPs

- Lamela:
lamela B
13) Stan (lamela B) 41
1 |Hodnik 3.94 m?2
2 |Dnevna soba 14,98 m?
3 |Kuhinja 3.11 m?
i_ S_@qéa soba 8.18 m2
5 |Kupatilo | 333me
Ukupno 33.55 m?
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o | o "‘\I g
i 8§z 4 | 3 &) e 1 |Hodnik 3.05 m?
f i 2 |Dnevna soba 15.86 m?
- 8 23 3 Kuhinja 2.91 m2
| i 4 |Spavaca soba 7.17 m2
sl | 5 |Kupatilo 3.51 m?
' ' 6 |Loda | 2.38m?
' Ukupno 34.88 m?
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Pozicija stana:
L, I, 11, 1V i Ps

- Lamela:
lamela B
16) Stan (lamela B) 45
1 |Hodnik 1.34 m?
2 |Dnevna soba 20.27 m?
'3 |Kuhinja 2.35 m?
i_ !‘_(E_patilo 3.27 m?
5 |Balkon | 211me
Ukupno 29.35 m?
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Pozicija stana:
L L 1T IV sprat

Lamela:
lamela A

2) Stan (lamela A) 2, 11
1 |Hodnik 2.47 m?
2 |Dnevna soba 18.62 m?
3 |Kuhinja 2.60 m?
4 |Kupatilo 3.12 m2
5 |Loda | 222me

;Ukupno 29.02 m?
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Pozicija stana:
l, I, 111V sprat

Lamela:
lamela A

2) Stan (lamela A) 19, 28
1 |Hodnik 2.47 m?
2 |Dnevna soba 18.62 m?
3 |Kuhinja 2.60 m?
4 |Kupatilo 3.15m?
5 |Loda 2.22 m2

;Ukupno 129.06 m2
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Pozicija stana:
L, I, 11, 1V i Ps

/ 7 Lamela:
@ lamela A

7) Stan (lamela A) 41

' 1 [Hodnik 7.16 m?
2 |Dnevna soba 18.81 m?
'3 |Kuhinja 4.34 m?
4 |Spavaca soba 8.33 m?
5 |Spavada soba 7.44 m2
6 | Toalet 1.35 m?
7 |Kupatilo 3.91 m?
8 |Loda 2.65 m?
U

53.98 m?
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Pozicija stana:
L, I, 11, 1V i Ps

/ 7 Lamela:
@ lamela A

7) Stan (lamela A) 41

' 1 [Hodnik 7.16 m?
2 |Dnevna soba 18.81 m?
'3 |Kuhinja 4.34 m?
4 |Spavaca soba 8.33 m?
5 |Spavada soba 7.44 m2
6 | Toalet 1.35 m?
7 |Kupatilo 3.91 m?
8 |Loda 2.65 m?
U

53.98 m?
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'3 |Kuhinja 4.40 m?
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5 |Spavaca soba 8.86 m2
6 |Radna soba 8.19 m2
7 |Toalet 1.75 me
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9 |Balkon 1.35 m?
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1 Hodnik 10.18 m?
2 | Dnevna soba 20.25 m?
3 |Kuhinja 4.39 m?
4 |Spavaca soba 11.63 m?
.5— Spa\faéa soba 8.86 m?
6 |Radna soba 8.19 m?
7 |Toalet 1.73 m?
8 |Kupatilo 3.80 m?
9 |Balkon 1.06 m?
110 |Loda 1.79 m?

Ukupno 71.87 m2
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N %53 Si‘ | 1 |Hodnik 4.66 m?
I YL 2 |Dnevna soba 22.52 m?
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v.v"v-.q (ﬁf 5 I Spa\i&_léa SOba 1142 m2
g - R 7 |Kupatilo 3.58 m?
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17) Stan (lamela A) 12

1 [Hodnik 14.85 m?
2 |Dnevna soba 29.89 m?
'3 |Kuhinja 4.65 m?
4 |Trpezarija 11.74 m2
5 | Spavada soba 8.86 m2
6 |Spavaca soba 10.43 m?
7 |Spavaca soba 15.83 m?
8 |Garderober 3.99 m?
9 |Toalet 1.73 m?
10 | Kupatilo 3.82 m?
11 |Balkon 1.35 m?
12 |Loda 1.79 m?
13 |Loda 1.58 m?
Ukupno 110.50 mz
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